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1) Simplify.
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2) Prove the following identities.
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W1 - 4.3 Co-function ldentities
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3)a) Use transformations and the cosine function to write three ‘{"’ S ™y u’.‘,,.._
equivalent expressions for the following graph: \ J;"’"
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b) Transform your 3 equations from part a) to write the equation of 3 sine functions that represent the graph.
s
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4) Use the co-function identities to write an expression that is equivalent to each of the following expressions.
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5) Write an expression that is equivalent to each of the following expressions, using the related acute angle.
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6) Given that sin— =, use an equivalent trigonometric expression to show that cos; =<
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8) Given that csc% = /2, use an equivalent trigonometric expression to show that sec%ﬂ =2
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decimal places.
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Answer Key
1)a)tanx b) 1 ¢)sin?x d)cos?x e)secx f)cos?x g)cosx h)csc?x i)tanxj)tanx

3) Answers will vary depending but possible solutions are:
a)y = cos(f + 2m), y = cos(6 — 2m), y = cos(6 — 4m)
b) y = sin(6 + 52—"), y = sin(6 — 3;—”), y = sin(6 —72—")
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4)a) cos b) sin— ¢) sin v

. T m T
5)a) sin~ b)—cosﬁ c) cos—
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9)a) sin_— = cosE~0.6549 b) sin—— = cos (— E) = COS (11) 0.6549
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+) Use an appropriate compound angle formula to express as a single trig function, and then determine an

exact value for each
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3) Apply a compound angle formula, and then determine an exact value for each.
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4) Use an appropriate compound angle formula to determine an exact value for each.
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5) Angles x and y are located in the first quadrant such that sinx = S andcosy = A Determine exact values
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6) Refer to the previous question. Determine an exact value for each of the following.
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7) Use a compound angle formula to show that cos(2x) = cos? x — sin® x
@s(2x) = cos(xtw)

T OSU WK - WL SINXC

(

- 2 x
os” %k - sln"y

Answer Key
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1) Express each of the following as a single trig ratio.

a) 2 sin(5x) cos(5x)

N [a(w,l

Sin (10x)

A
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d)

2 tan(4x)
1—tan2(4x)

= kan(a("i’k)]
= Lan(9%)

2) Express each of the following as a single trig ratio and then evaluate

a) 2 sin 45° cos 45°
= sin (2xus”)

=

d) cos? —2 — sin
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12

= cos (a(E))

—

b) cos? 6 — sin? 6
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e) 4sinf cos b
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3) Use a double angle formula to rewrite each trig ratio
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a) sin(46)

d) cos(66)
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12 12
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f) tan(56)
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4) Determine the values of sin 26, cos 26, and tan 26, given cos 8 = S 3 and 0 <6 < -
1“};_
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5) Determine the values of sin 26, cos 26, and tan 26, giventan 8 = —27—4 andg <f<nm
o Teayts o * n(z6)
xSz Sin(E®) = A 31O CosS 4:0/\(3@) sinl38
= 25 - &(l)(-}i @5(39)
;'6 > - -336
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- =336
(s ‘5'%)
(M) = cos*O - NG . 3%
= (-2 > 57
= (52 - (&)
DS Wi
Gas €S
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6) Determine the values of sin 26, cos 26, and tan 20, given sin 8 = —g and izr—r <6<L2rm

,kl.'",‘)} = |33-
IINECY A ST cosO

x> 23S
2\ / 5 sin(#@)
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- "l(?%) ( T
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7) Determine the values of sin 26, cos 26, and tan 26, given cos 8§ = —%and g <0<m

‘ﬁt&;s Sin(38) = 15O cos® B (36): st (o)
y ; z .1(%)(%) s (ve)
> U = (4%)

96 -
(=)
@s5(20) = s -dQ
- =24
_ -4 3\ X .
= (5) - (2) =
= L6_ i
C s g.'s
= L
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8) Determine the value of a in the equation 2 tan x — tan(2x) + 2a = 1 — tan(2x) tan? x

Aonst = o3 [1-€ay]) - gas
Lo = el ¢en'x] - 2an+ |

[-€ady (- €an>ne

tan(28) = €on(ax) v 22t 1

| ~toaty
Jd = -32a+t)
—[:_?\q
Q:.L

o~

Answer Key

1)a) sin(10x) b) cos(28) c) cos(6x) d) tan(8x) e) 2sin(26) f) cos &

)

3

i o, 0.1 ; El Eﬁ 3_” ._i i °.
2)a) sin90°; 1 b) cos 60 Ao c)sm6, 3 d)coss, 3 e) cos nt ﬁf)sm120 i3

3)a) 25in(26) cos(26) b) 2sin?(1.5x) — 1 ¢) f_tz:ﬁ‘(‘n’”l) d) cos?(36) — sin?(36) e) 2 sin(0.5x) cos(0.5x) f)%

8) sin(26) = ==, cos(26) = —;—s,tan(ZH) =-=Z

5) sin(260) = — =2, cos(26) = 221, tan(26) = — =2

: 120 119 120
in(26) = —E,COS(ZB) = =15 tan(26) = ey

7) sin(28) = — 2:,cos(ZG) = %,tan(ze) = —27—4

2

1
8)(1—;



(AR N NN NN R R R N R R N N N N R R R R N R R R R R R N R N R RN R NN N R N R NN NN NN NN NN NN NN

W4 — 4.5 Prove Trig Identities
MHF4U

Jensen

([ E RN NN ENE NN SN E RN SR E R REE EEEEE EN EEEN A E EEE E E R R R R N NN R NN R R NN RN N A R R R R N NN NN N

ZaluTioN 3

Prove each identity using the space on the following pages.

a) sin(x + y) = sinx cosy + cosx siny
¢) sin(2x) = 2 sinx cos x

e) cotf —tan 8 = 2 cot(20)

g) sinxsecx = tanx

1—sin? x cos® x
k) ———— =tan*x +tan?x + 1
cos? x

m) cot § — tan 6 = 2 cot(26)

) 2tanx
1+tan? x

= sin(2x)
q) cos* x — sin* x = cos(2x)

s) cos(2x) = 2cos?x — 1

) cos(2x)+1

sin(2x) S E00

) L5 RS

e ——————— A g — e

Sin(a)

SHESCD)

Cos [§-%y-4)

= cos(3-%) cosgt sin(%—ii) s ff\'j
- g(NX (oﬁj tCos ¥ S(/\j

I

-
-

[RY

(5-rs

=inx (on +cosxjmj

b) tan(x _ _'Y) _ tanx-tany

14tanxtany

d) cos(2x) = cos? x — sin? x

sin(28)
—— = cot
f) 1—-cos(26) cotd
) l-sinx  cosx
cosX 1+sinx

o Sinx—cosx | sinx+cosx
) = SecxCcscx

COs X sinx

) cos(2x)+1

sin(2x) = G0t

n) (sinx + cos x)? = 1 + sin(2x)

p) sinG+x) + sin(g— x) =+2cosx
r) csc(2x) + cot(2x) = cotx

t) sin (l?-— x) = —COSX

V) cotx + tanx = 2 csc(2x)

" (%

= ton(x-w)
* Snley)

<ors (2= Y)

\

—-—

= simecosy - @K 5IAY (_@.wrayj

(o-;ﬁc.(oj!»)& Anx4inY {éi*'"‘\&l

o Sinucly . CpYsY

Gmehy Gy
gty

cogficar) = sint3N)

Fog Lo oK Sy

= fonk - fany

1 + tv«’f&""f)

RS
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c:) t$ RS A) f’?— | gé"’
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= dalyyx) 2 osX s - SR SNK
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. (do -toan® > L cat (39) B SllA(QLe) '
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- ces® _ S0 - X ws(s0) (o)
- — a— P
S @ 39 SCI\C}S) = ASin® cos®
‘ a o 3 \
250 808 1o (wde -aRe) L~ (L-asitg)
<1nQ Ca5H :
K<IRO 05O 2 2sin@(og®
Z s H-KNO 1 -1+ Fsin’e
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| A s .
. l
($2RS }
s CQS e
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(% 2 RS
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Cosq%
.9 *
sin X+ S V\llx oSN+ 565%(

cos ¥

i\

Ly

X

pu

= (sie ) + Siaa CasA + (casn'x)
cos 'y

R s‘m'&,k (1‘(q510() t S( I\l"x COS\« "' Cosl/XCi’S(,\a/Xj)

——

Cos Y
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3 1 "
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¢ con(3x) X \ - ctx
6“(3-‘9.) \ _ C,Oﬁq,
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\ Sinx
L desx Vx|
z JESAH
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P ?CC);% ‘\
/25“\%953{
-~ CosX
- P
St (5zRS
RS
n) R
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2 I+ sl:\(}«) |
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COS(aﬁ) %st,\e cosB
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L52RS
) 5 RS
B - _{,av\’)(
L+t x
z L SiaX 05X
Tan
= g~ (sc:s‘x
coﬁa‘x < s'i_:_\_;x_
o5 A cas X
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" |
- (ot x
R S

= AsinXcasXY

i
(Z5.)
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e —
e

AN

< S\n(%xx) * sin (%‘7‘)

(4]

. 1T
5\{\1%‘ (OSY"'(OS% ;.n’x-} -S‘ﬂ Zl‘(osf(.- o™ Sinx \

:o@X o, X oSk gink

Cody b+ CasX

e

e

dcasX (5
Jx ()

[N

1

znj"). oKX
a

z J& cosX

) LS

e

= csc(34) + gk (3x)

Loy cos ()
Z e T
4in(an) Skn(?’)()

‘i

1+ cos(px)
sin(ax)

n

1 4 1(0:?9(-\

'_’__,..—l—-—u—--——-'-

2siny o5V

X‘Sin')\'_ (954

.-—-—'-'""_-

sinX

(s RS

RS

z Cos' % -sinlx = Cos (arx)

£ (Co Slx)z - (S\n1 y)l 3 cos - St

i

(o2 - %) (Cos o +SIR X)

cos X - S\/\lf)(

i

(3=RS
LR35
RS 5) _L?,.ﬂ—— e QS B
o 2
T cotx Z cas(2x) s Vcas ¥ -‘
- _(_'fé_?.é_ et ce,g(«-fj()
s\ny |
= oS cosK - SR SNX
= C,oslx - SAW\:%
= cas X - (1-cas %)
- casx- | +cosX .'.
l
= Qcosl’k - | l1
LS=RS



{) L \ RS
il S TR
‘ \
: S (F -0 2 -CesX
2 Sing cos - w5z sk \
|
= (Neasx - QotinX ’[
- ; 1
- -cCosX \
L= RS
V) L5
= coby +ton X
- (3% SINX
siny casX
= Casxt N B o
o ‘.__________...-.-
¥ 05X 2l o5k
. - - -
Siny 0% sinx ce5’¥

9w S

RS

—

. @S () Ny
<in(3%)

= 2wty -] +)
il . OW 85
J <inX 05X

2 Feos X
.—-——'-__-—-.-
F oy cos¥

Cos¥
- I
inX

- ek x

- ¢osK
sinx

(5-RS
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W5 — 5.4 Solve Linear Trigonometric Equations 5
MHF4U .
Jensen SeluTIoNS e

r'.l.lC.llI.-.-_.-.I.-.l.l.l...'Il'..I..-.-...-..l'.CIIU.-..--!..l'.'.lll!l.l....l.l...

+) Determine approximate solutions for each equation in the interval 0 < x < 2, to the nearest hundredth of

a radian.
Cosy, = - 0.15
AnX - ‘{'

a) sinx—%=0 b)cosx+ 0.75=10 A Xy = CoS_'(-°-"§)
o A Xz S8 (k) > 3 EEXEY

{ Q39S \
| S

24 625 oz e BieEioe
\/ Yoy T-033 - 0sTYL
e . RN ——
| ) m AN I -
‘: ! e Ws0.12
\W0.23 2 €iAT, P
T C L ‘6‘\‘“3 g !: 3..%@,}
= s G567 : ws3IE - 0-75‘J
c)tanx —5=0 tbony: § d)secx—4=0 ]
_A - ﬁ”‘ 4 j“‘(‘x > V
> %, = ton (5) 5 s L
i‘- (.37} 4
o -1 4
’K.: (os (Z‘)
— B /)Cl =1r + '.'—37 P F@
- ‘{.Sﬂ B
A Y22V -3
1 :
T 4y ¢ Ve l3rstadSiz 5\ T % 496
” A v
: A [ %c |32 ﬁ(ﬁ.?éi@
e)3cotx +2=Q  Deoku -3 f)2cscx+5=0 -
Mo cota = -2 TR 2escn= S
¢ 7 s A escus -5
el .
3 £0«’>¢ -3 2
L
o f.7
Yz ton (g AN R
- e TR SO
1 2 -0, 2% | )
- 2 ) ; 2 - 0.4 3y
e = g lg'.l }.35 | \)‘3.46'7 J: Sb%j
5¢3 ) -T 3 j
/l (/ /KD_;' Jl\l ’Ooa(% % < 'x:l_:"‘.bo’q)
3 I
2 |5 2 l(jk r)’g—a
: - 4 2

. .d } "'j-—..\. =~ - -5



2) Determine exact solutions for each equation in the interval 0 < x < 2.

.5 \
a)sinx+§:o SINY, = = b) cos x — 0.5 = 0 o5z 5
]
s )y 5 from speciol 4 s\n“gl;‘g fom spocio} B ms% = &l
A loce ™ (~ Q1 +QH4
Ploce z In Q3+ QY Ay . A P 3
S
- s
| - aw-X
‘k;L: w+X ’yg_ = g\ 3
B (j:lg T 'VJ 5 S:.Y.
@ 3 2 T2 C 3
cJtanx—1=0 d)cotx+1=0
Cﬂ+’(.:—\
B %=1 ¢
@\ A‘ éﬂ" = an’k = -\
-A (TM Q:C‘Q\‘ *)&3 o ?Q,(,‘a;\ A') ‘tﬂ’\% < 1-
[} ~
i ~y, 9\«0_ E " Q3 rQY
2,-7" %
T 2, L
¢ Y

3) Determine approximate solutions for each equation in the interval 0 < x < 2, to the nearest hundredth of

a radian.

a)sin’x — 0.64 =0 b)coszx—§=0

sy 2 0.6Y4 COSJ/X, 4
-9

Sin/X = “.’.m Y
Cog N = 2 ‘5 q

Sty T a-$

= B t Co=
Vi \‘“\\:} co3y 3 N
Siax = 0-9
A
p3 x Ll
o.ﬁ 043
A C
-1
- X< 2 S\n ('0'{‘)
Xy 2 .4) 3
=03
/yl;/‘t-0§q3 &'_‘ = “"‘_‘Ooqg




cjtan’x —1.44=0 d)sec’x —25=0 sl = A5

tosx < lUY os*x :_,;_/5
fony = £ Ji4Y ? ‘
LYo

bowx~ L 12~ Cosq = = Jix

COS’X EA + 0;62

A/’

cosx = 0.63
5 x5 A
. =24 0 or 3
o- 6
1
<
Lo
- -
fg= ton | (-1:2) %= o5 (063)
Ky T ot AW ‘ 1();7‘5)
i-’)‘g 154 j e
Kapz N ro<y Ay A% -o.g9
AiE.y
g o5
Xy = 226 i 539
{ e
Determine exact solutions for each equation in the interval 0 < x < 2.
\ a
a)sin?x—==0 oKz L( b) cos?x —> =0 Xy
4 4
ﬁtA’\t:_fW COS'X::J?’
Stvys 3 -5\ ¢osy s ¥ 2;3-_'
J%
S rom spectal 4; st,\‘% N 5' from ?edql 45 cgs%: i 3
I - JOPR B
Placa. “ Ql +Q% Gar sinx: 5.! ﬂch_% in Q. Oy for cesaz =
Place in R3I+AY For stay - 1 ,
Placs '{ in Q;*Qg for Cosas -

.dor«;’t]'

S
-




& &
c)tan’x—-3 =0 to X =3

csxc %
d)3csc’x—4=0
tonx =133 sha*x = 3
1
Siage = # '3
ﬁon\spe,()a\ 4 tml;;& X ==y
=l _ J3
ploce L in QI4GR for twk=3 e
3~ Fyom TPGCFOJ4) BPA%-U_%
place % in QA+ QY for fonnc -§3 T3
3 %, Place 5 In Qived. for SRR ‘E
b x; N l
p Placs % in QR+@Y for dnn- _ I3
>~
it =N Wy

[0=1)

. .
3 IX’I:'% -XB:LIVW
_ —%
Y% ="y X3 dg

3

Xy = & _ gy

(e ) 5 z }((/ s

Jxa g '3- KL':. v - 3 3
5) Determine solution

achequation in the interval 0 < x < 2m.

a)3sinx =sinx +1

b) 5Scosx —+/3 =3 cosx
2siax =1 Lcosw =R
sfax = é CosX = Ji
) I
\
Pace. AQY iy Place W Q\ +3Y
s tn " LTy
¥ %
N ) j x' A‘
a fe‘ ‘*f/6
Q WG O or l’q’
N \\'/‘
e
. Q T 2 <
3V,
. 3
g SEACH - -n _ _ w®
f T My T =5 [")C"’% a2 dW- ¢
L
’X,}S 59



c)7secx =7 SRCrez { d)2cscx+17 =15+ cscx

Cos¥ =] CS<x = - D
Ua. uni Q‘srdt { {
wh@=, end\(oom-\s (cosx) s&r\-x_) S X > - a
._h-/ F\“'M 5({(‘9)4‘) sl;\ﬂ: /'
L) S
1 =0 ) ke
A
Y;L = Q\TI‘
— N, 0
v T
7 *
T % iy

C

"

X "%)"12' Az lﬁ-ﬁ

6
S Ky ll}

Answer Key

1)a) 0.25, 2.89 b) 2.42, 3.86 c) 1.37,4.51 d) 1.32, 4.97 e} 2.16, 5.3 f) 3.55, 5.87

4m 51 n 5w n 5w 3t 7m
2)a) o, 5 blg o) d -

) 0.93,2.21,4.07,5.36 b)0.84,2.3,3.98, 5.44 c)0.88, 2.27, 4.02,5.41 d)0.89, 2.26, 4.03,5.4
aja) T, 5F 7T LT QoW Sw 7w Um @ 2w 4n Smogw 2mo4m Sm
) 6’6’6’ 6 6’6’6’ 6 3’3’3’3 3’3’3’3
5)a)g,? b)E‘T ¢)Oor 2m d)3.67 or5.76

T 5h T 11w
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W6 — 5.4 Solve Double Angle Trigonometric Equations

SolUT\ONS

Determine solutions for each equation in the interval 0 < x < 2, to the nearest hundredth of a radian. Give

exact answers where possible.
a)sin(2x)—0.8=0 [eF ©=3n
<8 = 6.9
roA Otk (0%)
@,z 043
@y oW o3

el = 3;3\\

.27(: 3,1]

#hdol R privol oF U to Fingl otar soltdfens
Xy 2 Ky U Ky = e
=435
c) —4sin(2x)+3=0
led Bz2x

Jx =043

LinB- 2

(< n ~En
> ‘h A 9,-9x (E)
: (% \ o%S 4
w— - @| 2 Q.%5
<

T @;51]' ‘0-15

O3 2

x-S

<

B SR WY |
dK ~0.¥S

IR - o(
(%= 0:43 | @

¥ odd prrrad oF W to fagd oWLT Solpdrens ¥

~

%y 2 XY Xy =%t
Paosr)  (Reiy

b) 5sin(2x) —3 =0 Lty ®=3aX
) -3
4In@ 2 2 s
*, N 9, =St (753
5 6y ! A9, A
\\ @‘ 2 O.Gq
r SSONV0SY g
Gz T-o.CY
T ) C 9& - glg
&
Ax D
Pl ~)
e o:q dxz LS
[ 2 03 [%s135)
- “r - Y
¥ hold ,aNoJ oF M to ol oo Scludrenst
3= Xy + N ”(L(:'k,;,’f/h’

I?‘B: 3.96 )

d) sin(2x) = \/i?

leX ©=%K
<In@® = J(f?»
?WN\ A -) s‘,\"‘q - =
Place A Qie@y
S e?:‘ _‘6‘ A O‘ < l{{
At ey
Ay S5 e)
;:T-%
C Q)_: 3N
dX=Q
A N gk
o= % ]
Yy =3
X = % L 2

Xaz KN =K x

)



LerO= (e} 3x= 8

i = G 5.1 ; . V3
€ sin(4x) =3 Fromd)=ng =3 fisinBx)=-> 4 ) sh\% =3
2118 =L Pacg, M Q\+Q% SO - -‘E_ PR
a B Place |n Q3+ qy
*h

s ' A G et

_Qyer 37 G' N S?fr

ﬁ
C - ﬁ
6 3 5] @3_1“3

A
O, =4y
DX = 3
v N
3xz ¢ 3xz T
=
qr

% = [t
P
< 1
h) cos(2x) = —=
let @ 2a5¢ Fom 4 Cos T -1
wse = -1 372
= place in @2 +Q@3
(Y]
1‘;3
T 9, = 2X
N e;__’; "T"'%
6;5 ‘L"_[_
3
s :6\
/ Y Yy
v - =
er:?-_} . 3
Y
X ‘_% _Xq“' 'g

a)0.46,1.11 b) 0.32, 1.25 ¢} 0.42, 1.15 d)g,%,g—a’f,l%” e)%i—:%%%%’r%’%
T 2m 4m 5m

ROy

)4n Sm 10w 1lm 16m 17w )311' St 11w 13w 197 21w 27m 297
3’3

fyiE 2 2T 2R JOR DR ) 2F O LW ISR ORI /R AOm
9’9’ 9’9’9’ g 16’16" 16 " 16’ 16 ' 16 ' 16 ' 16

i
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W7 - 5.4 Solve Quadratic Trigonometric Equations

Mk SoLTToWS
ensen
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1) Solve sin?x — 2sinx — 3 = O ontheinterval 0 < x < 2m

(siny -3 ) (owxal) = ©

SIn-235 O <z - |
=3 Lse ualY ctrde whek
No 50WUMAS eoch pold L5 foosx, stma)
S xz2 3%
RS

3%
o
2) Solve csc?x — cscx — 2 = 0 on the interval 0 < x < 27

(cscn - (csexcxl) =0 —

$ \H _ i ) Csexr 12 6
sev-2:23 T Csc \
Xz
C3<xz) ‘
slary = ! Eice |
Wigl

*TJQI“!’OPOJ“‘\'G) »

A, = 3
L2

3) Solve 2sec?x —secx — 1 = O ontheinterval 0 < x < 27
Lo’y _asec +lsecu -10
A secx (secx-1) +) (secx-l) 50
(seec-1) (23=exH ) 5 )

2
G k},/ﬁ A2secaxy =0
Secx: -]
RY - 12S N X
Selyz) CosSX =~

o3l Na Solidrens




4) Solve tan? x — tanx — 6 = 0 on the interval 0 < x < 27. Round answers to the nearest hundredth of a

radian.
(ﬂw«-%)&mx+a)-i)/a s o
\_; S 6m‘>d$ -1
tw’k_ 3 ™ @ %
5 R A '1(,3 < 6&4\ "‘l')
Sl
S A % 2t (3) i - Lt d
l’k % 1 L N
o 4-_ R 12 l.3.S (! @
’ W 5 -
e} /)(;.,'1:(('-&(.9-5 1 % c T“f: & -1
r ‘ %o 'Xt' 3 .03

5) Solve 6cos®x + 5cosx — 6 = 0 on the interval 0 < x < 2m

Ceos®r tTcosu -Yeost -G= O

D cosk-d-
3¢os (Acosa¥3) - 2(TcusEI) =0 /.f“ G

WS - 2
(2co5%+3) (3cosx-2)=0 e 3 s
J \yd_-—f"/-“. } «;x\ A IXI:@S (§}
2cesx+3=0 Pﬂ = G.
. -3 (67%: 74 —
asx 2 "= B T Ppa (RO |
] X0 3 -0y
No soludiens T C K= 5.‘{‘/
X2

6) Solve 3csc?x —5cscx — 2 = O ontheinterval 0 < x < 2m

Jesdx -Gesen v lesex 22 Q y esextl=6
-2
Josexn (CSC’J(-J.}H(cscx—;L\:G csex = c
(cscx-2)(3escat) = O Snke-3
/ \
u ~ Ne Selus
Cscx - 20O N”YS
Cscxo g
\ 5
B Sy «,

Fomdy simB=g ™

Placa In Q1+ T



7) Solve 2tan?x — 5tanx — 3 = O on the interval 0 < x < 27

Lbordx - Gbonxs Fony - 320

Mot (fonn-3) +1 (tonx-3)=G 3 Jéﬁ ! f*?
(,fm’x =) (ot 120 . <
GAEE N At (3
X, > %'(3)

X2 - 0. ¥63EYKA +34)

]9‘ < %]
|X| = |e3~6 l ? g’g

- T LRE + Y3 Yz woskl
v

C -
™ X239 © et e

8) Solve cotx csc? x = 2 cotx on theinterval 0 < x < 2w

* WoHen (a is.r \ire of solsen’
_ 3!1\'2( §il\ x "-(.ry ‘ o
Place \n alt § cueblreds R Ustrg b;f\H-' e e w
cosX . ©ur) pold IS
/’S(r\"x- Z 2CO3X > 2 o (m“),,,‘,x) |
o5 X - 3 o
o ;5‘ i & Ty Qo2 [(a, I)
Cs ¥ - ——‘q{.‘; ; zg.
1 T / N
; - 5‘!\19(- —g:“/ 1'1 C
7— 3% . *
]
Strx = 55

[*I" y !+ Xz ?g' ) X3 i{(l » Ry /q ;’ks- < ),%,er
9) Solve for @ to the nearest hundredth, where U_' <60<2m

a)3tan’6 —2tanf =1

3on0 - 2G| =)

760 < 3tunOt 1fur [ =0
H0 (fang-1) H (fone 1) 20
((me-\p(%mea\\ 0

tore- 1= O

-

e Av/-1
O3 = Len (3)

65: 032175 +21r
‘@3=9QQ6§

€Me:' ‘ $r\‘lmA , {Mx({:l
\

Placetin Q1+Q3

@({5 "T“ O\'S'-L

il
L q P
A y Qq | 6(_{ -~ QQ%;)\
v g),_f’r

T o)




X

b) 12sin?6 + sinf —6 =0
1100 ¢ fge -%sh@ -¢=Q Jf‘5 350 -1z O
34O (t( siA@ +3) oo (‘Ish\eﬁ) o / Q= §'
(‘{smeﬁ)( g -3):=a P

L S
J g, % ?‘7’* O =5t (2)
Yemo +3=0 N / @ = 013
ano+ o TS

She -2 Qq 2T ~Q. 73

O -G #g062 +2 Y

(-3
i \ P T N AT

0-"2s chfs—'_____ @] - 5@"("{
G;; '““ + O.KS

¥ S QIC Ol:é_:ﬁji\

¢) 5cos(28) — cosf +3 = 0
5361 - cos®¥3 24
0cas*® - -<¢es03+320
(0 ws?’@ -cos8 -2 =Q
[0cos® @ ~ScosQtYcosQ -2 Q)
5050 (2cos@ -1)42(2c0s9-() =0

(loa\sb@'\')(_gcose_}a) z ¢y /\ Cosd = -%

Cos < Ll \&_____ -

03 - pucl -2
€ ram 4 ws%:'i 5 . ( A @3~Cs=s ( 5)

P\eu:_l. in Q\|.Qg'

; s X [ -
S | /10 B W “é‘* @Q s 4L

@q5 \{‘3
T AU <
T o L—/B
Y C
Answer Key
2)” 5—"3—”3)n 4) 1.11, 189 4.25,5.03 5)0.84,5.44 6)35?” 7) 1.25, 2.68, 4.39, 5.82
8)553—"5—",3—”,7—’r 9))—282 T 596 b)0.73,2.41,3.99,5.44 c)—19843—






